cJRAvy4R

C9B(A) C 108 (k) Cc 118 (k) C 128 (K) C 138 (£)

4 Bmb — A&y | s Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#s Bmdb — A%y
EERSE EERDE ERDE ERRE ERDE
2 ASE L) 70{ |5 80 |2~/ 60| | & [HEk(EFE) 70| |/ 40 |39~/ 40| | O [FEE % (HE) 90

ll/ KEE B 10 |~ C 80 [pwiE Ri 10| 2 I
o e e 12| |/f e 206 f :'J 26 (43 206 | ™ [4£3 206

S |mmm et meL g 8 R 206 | 4
5 |BARESHE U [F [s=otes— a-mm 25| |4 5 |[BRTTN—T 4| g [HBERSAR 20
~ |ERE 20 |* [man—avz542 5| 21 [Bann—t m9Emw 55| [+, |RTiE 1.5 BVAHY 3= 20
= |AZ 10f | ¥ AHEVAITAR 15 brepii 2 A) LA 5 (1x 4em) 15] |pt  [oEZAIzeL 25
A |zusx puk 8| [T [smwho= 5| | [£2 1| | [BE 15| 4  [AZ 12
Yo msusE=2 5| |+ |ERE ELE 40f (P RO 1|3 [BERSAR 15] |3 [FELIES 10
>~ | YSEH 0.5 L ey 25| |- [&iE 03] |, ey 30| | [BEvLATA 10
i N — i s |AZ 15 ; Thih 6 { Eh¥ 20 i B )ULE 3
3, BiE LI N N VA )| 05| % X 4l |2 AS 10} |y Y545 1
cL&d 0.03| |z +oy 2 B )HYBITE 3 g |LLM=HRSAR 5 | |EHE(=ZEH#) 5
hL—i 07 |1 |B=uz 01| | 77 [fattaih 5/ [ [hh¥F 5| | |ROEH 45
I |Fxravus s -mmE 05| | x LR HADR—F 3| | z  |&E=E 1 o |#YA 0.5
L |mRrE=Y—X ., |FEracys s-mms 03| |2 [TASD 5| |48 [IzAl=< 01 |5 *'|i& 20

> T e 05| L [Ex 10| |7 |[4554 2| &
T 20 4y, 26| |F  [cL&> 0.03 INAZE 20| |7 [EAnDU—2 8| I [LhECcarmE 15
k4 T oelis sof [T [x8L o] [T [2r8—y—2x 23| | [2e3Y 30
; A)R—aVRSAR 5| | & g EOEM 2.1 4] BiE 0.5 ; 3L 30
w) ) —La—> 35| | ¢ Cohilrg 50| (4, [#YA 1|y ZL&S 005 [ |[MWLEVRHA 2
EhE [|= |[AB 5| |5+ 8 |f=Lit 0| |+ [E)#gLOE 05| |4 [BOEH 1.5
a  |&E\k—iLa—y 5 ; ) R—ILa—> 5 L B BEDOYH 02| |z 80 |FbdE (LB 1

[ /%Y 05| | O [BTiE 1 B BEL Aok 6| | X #
v |RER4E 30| |~ B b4 BHL Ak 4| |1BR |E=pSY 10 3 | (E) B AU T 2.5

A ST ] 3| | %0 [3=rk 30 BT 25| |? &) I FLAR 5] |
L ET 03 |o IS 1117 [rz 1| [ 70 [dma=5 ek 80

Bl 06| | 8 [UEZaH—X 8 DECAIZR 10| |7 [Eh—na—y 7| |4

L&D 0.03 i AT Sp) 10 B2) %7 B0 05] |14

I—VRE—F 1 |3 2 [EYATY vl 20 AB 7 m  [BEE 25| | -

e 70| | hhE 5| |8 [ROEm 25 |/

X EOEm 2| (4 |miE(EE) 15] |

A 30| |~ Bt 07| | 37 |CZ%:@ 0.7] |?

Ep5Y 20/ |1 ) FELBIVE S 3| |~ 7

WTHE 03| o &) ELE 05| |7 O BRALLS 50| |~

LK) #HA 12| [# 2015k 130 ;\ -

y=yi(3 2| |~ ¢ [

55 ]| o y

B (EE3) 1 | # o

BiE 02| ¥ ~ b

67 [2L&S 0.02| | ¥ ~

i &

th )

) H

}} ~




cJRAvy4R

Cc 168 (H) C 178 (k) C 188 (k) C 198 (K) C 20H (£)
4 Bmb — A&y | s Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#s Bmdb — A%y
EERSE EERDE ERDE ERRE nE
% |BEX(EH 70| |3 00 |ayRsS (@AY | [gh-an 4o [T [HEEK(BR) 60 [ 60 |K4p/ <y 60| |B  |[HEX(EH) 70
S 80 |pmE R 10| |7 [2uR/SU(@EAY) M2 50| (B} [253% 20| ¥ L |x#z =5 10
% QRS (AY) N3-4 60 4 AYING] 7| 1N (43 208] || [Emx5/x 25
04, 206 ’/\ TS (BAY) Ms-h 70| |g  |BE 1] |7 ?r Cehing 50
#® ~ TolmwyBoE 07] |4 |EALEILF 20 |z |ERE 40
7, |REEnEEE -/ 50| | |4EL 206| |z& 7z, [BBEVAFAT 20| [~ |AZ 10
O EEnEER Bt 70| |A A | 4EEL 206 AEHT 15| |12 |[BLEEF 5
= Y m  ELL hvk 12| |@ F|Lehg 50| |1 |¥&)LUXE 5
i F5NAE 25| |~ B 3b EHL Hvb 8 73‘ BA B EAL hob ERUR 33| |V Eh¥FE 40| |I& +0O!) 5
N ER )] 20 BAREDHE 1 2 [mer st muL ot mErR 22 ? LR hehikE AR 8| |~ IZAI< 0.5
; L 25 ﬁ AA—IVRTIR 5 ﬁ P 4 ; IZAlz£ 1|~ IhEH 6
: |[Z=Errea) 15 |7 [Leptnd 50 A 1 Sy 08| |y |[HS5M 4
T |ROEH 27| |, | ERE 0| p |[EE 1|y, [B35H 1 |g, |pL=# 1
F |BEE 22 |y [AZ 0| |lc [CARA 5 RhF vy (1ke/3ke) 6 Y55 M 2
5  |BEESR 1 |1 LHL 10| (g7 [K#p 2| |4 |EDEE () 15| [ [LR)ASR—=F 3
no Y35 1 L& |23y 05| |3 73 [Lafztail 5[ (U JARE—Y—R 1 |8 | FERESHE 2
AT F—EUEWE) 1| 1> |[¥>45 1 [ FRESHE 1 | |rerrFeyT re/se) 2
E T ek 07| |7 [xeRy 20| [¥  |zriavvs somas 05| |7 [mzrE—y—2 13
? ATNEA 25) |7 [Las 0.05 % S 0| [¥ [a& 03] ¥ [eanroy—x 1
| | 5 INE 5| | ' [T 05 ; F1) 98— 00| |, |[ROEH 1
£ |AR 25| |5 |HSHH 4 E 30| | |[FrYk 450¢ 1
v [AB 5 |v [N — s (BREAEECER) 6| |4 F o |pEavs nemms 0.5
K [fR&E 5| (A |B—)T 01| % [BEE Avk 20| |% [A)FBway— 30| L |BE 0.8
» |PaE 7| |V * LR AsR—F 3| Ly [EE 20 [~ [EwSY 20 ZL&ES 0.04
A |HHE 6| [P |Fxoavvs memgs 05| [ [dh= 5 [T [ZR/ISHZR 10 515k 90

E)FELETL 4| |7 |EEREEL 30 IIJ #) FLLLEHFRSAR 07| |7 |&BE 35
E’L\ hF 110 7|' A 60 | [Em)FLbhwhot 05 T B (E ) 2 04 g, 206
& I HE 1 = Y55 1.5

A o [A—IYRIAR |  |BIE 07| | |&BiE 03 §)BEIVIR 1
Ht o [ERY 3Bl | [EOEMH 05| [, 7 |SL&S 0.04 FrRY 30
I+ |[FrHFUYA 15| & | ELEIYVE Sk 3| | Fp5Y 10
N NS 10| [~ |ED)FELE®R 05| (@ |[UE)FrrT4F—X /10 H)h—La—> 7
R |[Bk—ra—> 8 K 120 | 10 | (@) o F4F—X 15 B MUBTE 1
~ (BS54 1 ~ BEF 3
;";77 B OE 02| | [EsmVE— 40 = OE 3
P = e 0.2 [ G =L} 1.5
_ 0 |BE 0.2 N e A 10 | 0.5
) 0.03 58 | -S4 0.5
(E) BR{t /M 5 4 IMNETFL 4




cJnayi4A

C23H(H) C 248 ()
T BRA — AL — ' C 258 (K)
Eu*/é\l; A BRE — A&y | |wrs aR% C 26H (X) C 27H
E = 70| |E |[BEXES = Ay AZY | [#iz g -
SME Bk = 58K (FF) 70| = w——— Rk E B — A%y
“  lavs = 10| = 80| kHE FH c  [EEXER) g0| [ 60 o ERSE
5 (REAB REL b % = 10| [ [ome w ss EDIATAVAEE:S)) prar— E%DE
A 12110 o W gL o of v 60| [E |#EEk(EH) 70
IR % Rl By 8 06 [ o3 g P RN — = 80 [ L
2z |[ExesE ] | 43, ool 15 [em BAL hyk 6 /7\ e ool I KiiE Fit 10
~ EE#Q? = sh 8 1 N /\.I
— 20| |z, £HRS 1% HGT ~ - . e
f i')<=F 5 |” L:,\bhﬁl,?gx 30| |4 |EEtookE s—n 2 | 50 7] 2 ALTAS7h -1 50 = 206
d /T{)O')‘/E—X 5| | FhE 80 A LERE 25 || (A B S/ANIN—H 60 ﬂ: —
) INE— 1 C = _? 50| |4 AS 7| |A Z (I‘I'J)_égb #-1N2 35
Y » DECAlZRL 25| |£L :;%Elm”ﬁa 5/ |1 FeRY (Sl /N3-6 50
r R FryT 1 N AT 1 l.i. = 25| |~ AS 30 |& (&L th
3 7 (1kg/3ke) 14 h =) - 0 = i 3l |2 70
T [oz8—y—=2 B SPVAITA 5 |F = ol |17 le—=> BiE 03
L |- [poxm Ao [BE 0ol |7 oo 3| L [mE :
LavyR LB 05 ; e LI B (E B ) 0-8 ~< =) ol |2 [ 2
v, |BE 05 b3 (b 4l |5 B ELER 81 e, (BT 70T B 8| |2 ot 1
) s 5| | |EHE () 3l |2 === 05| |+, * |@rress : 5 [RLAa 5
= 0.05| |z s o |y = [F > v &I RE—F IN5-h 8 =
— ™ b £ ~ " mmir
i 206 = 206 ¢ o gim o1l |= 206 . A R—OU RS : IF ;i%”’ 5
; - - B Ap— -t DTKE HR—IL
I t 5/ [7= | TASD = A BVAITAR 20l 1= [Lrs 20
S Z 3thiE Y N < k) A =
1)) ARy 25 J LAY 20 | DEZAITRL 15 AS 10 D ¥ O3 10
% )\% 7 7 INASE 20 54 AS = XHA=(T)L) 7 - I:j\' e y 1
B [F42F=X kg BR 20 B (8 soniifi 10 |%  [&aY e BbHE (R ) 08
4+ |[BouLs ~ [EBYBSE 2 B [Fes 8| |2 [y N ETTY 0
5 e 1.2] [/ 52 25 ~ = 1] | pre=yrsn 0.5 = it -
: — 3| | 86 [#: 5l |7 |ROEH Z2 0.5 Fr—— 0.1
5 [gs43 R BE 2| |m - o |FBfENDE
’nj ; P 5 o 15 7 E’}‘*E(E}’ﬂﬂ%) I LR)RThKE 54X 8| |+ 68 L5 0.5
3 ROV 2| |7 [z ¥ | #YA 1 LR ABA—T 3| |i& =t 20
D mcam il Y s i~ ol |~ [BwuacE 1] [* (ERESHE =
Z 57 (LS : E) &/ 1> Avk h d 65 [ =L 2 i 1 |= oW ALY
j 2 002 |- 2 |5 HRESMBL 0.01 —Lm;- 0.7 NS IES 40
10 ) wdD 003] |& s !
;|( KULRNL i I BikE 5 S HSYDAE 10 f FEOH 20 FEravy A 3-EE Og 2 ii“&"%’( 7
x — - 2
-5 Ang —— 30| (D EFhE RO 30 218 :DE, OES 0.1 * 3L 5
A BUATAE 5| | A2 B 120] |5 [ 5
e = 7
2L o 5 |~ ) FLLLVEFRSAR 1 FARF—R mo#20| | [#)rLE "
- IN\t!) 05 i O Z o “LEFL 2
I = o] | BiE = s+ 10
> bA— </ 20 :
3 _C/Uzh\/\/ 3
S 0. (&)
;i\\ gi;:u/)‘ - RiRE 03 ? ) ELEIVE fEtk= 2 it HwmErL 3
e 07 ) ELES - -+
L&D 003 199 = . L
D O a2 - 130 —~
H 197 [:a £ 0.2 th
- = 120 N HREwT 25 )
—= H
OB FATY 20 Z




